TN
[\

Bristol 2 Litre

Ancillaries & Gaskets

Parts List

Engine Type 100 C, 100 D and 100 D2

Gearbox Type BWCR.9 and BWCR.12

We can also supply parts for 85 Series and BMW engines.

Original Bristol part numbers are used for reference purposes only. Errors & Omissions Excepted.




/g
23 +44(0)115 978 0663 Email: info@inracing.co.uk




Part No.

ENG1148
ENG1146
ENG1118
GTS102
GTS104
GTS106
FB.105/14D
ENG1147
88G446
ENG1149
ENG1117
ENG1158
ENG1116
FB.105/19D
ENG1146A

Water Pump

Description

Water Pump Pulley (N350680)

Water Pump Overhaul Kit — Replaces N350710 + N350410
Thermostat Gasket (N350630)

74° Thermostat

82° Thermostat (N350780)

88° Thermostat

Water Pump Bolt 5/16” BSF x 134”

Water Pump, complete assembly with Pulley
Water Pump Diaphragm Seal - Replaces N350410
Water Pump Impellor (N350470)

Water Pump Gasket Outer (N350250)

Water Pump Spacer (N350230)

Water Pump Gasket Inner (N350240)

Water Pump Bolt 5/16” BSF x 2 3/8”

Water Pump Overhaul (In our Workshop)

RP38-102-102CL
LP38-152-152CL
NP38-102-102CL

38mm x 45’ Short Hose 4” Legs
38mm x 90’ Long Hose 6” Legs
38mm x 135’ Short Hose 4” Legs

AC38-1000CL
ESE18008CL
HM-38
SST16K
SST13K
10964

VF23

VF237
VF266
EFC38

Part No.

ENG1056
ENG1208
ENG1125
ENG1133N
ENG1119
ENG1202
ENG1018
ENG1018A
0X13
0Xx47D
357

0C606

Item No.

9

11
12
13
14
19

38mm Straight Hose 1 Metre
38mm 180’ Hose (U-Bend)

38mm 3” Joiner

5/8” Take Off

%" Take Off

Radiator Neck 55mm / 3/8 Outlet
Flexi Water Hose 38mm x 150mm
Flexi Water Hose 38mm x 400mm
Flexi Water Hose 38mm x 450mm
Thermal Fan Switch for Hose

Oil Pump & Oil Filter

Description

Oil Pressure Relief Valve (N361310)

Oil Pump Drive Shaft (N361830)

Oil Pump Gasket (N361440)

Oil Pump (New) (N361430)

Oil Pump Pickup Gasket (N361530)

Oil Filter Housing Gasket (N360740)

Oil Filter Conversion - Element Support Plate Mod Kit (OX47D) Alternatives
Oil Filter Conversion Kit (OX13) Alternatives

Qil Filter Paper Conversion Use with ENG1018A

Qil Filter Paper Conversion

Oil Filter 95mm x 95mm outside @ (for Spin On Conversion)
Oil Filter 75mm x 75mm outside @ (for Spin On Conversion)

Please Note: Oil filters 357 and OC606 - Use with ENG1050, ENG1055 or ENG1132 (filters not included in kits)

ENG1132
ENG1055
ENG1050
ENG1050/1
0C510%/235
0C513%/235
0C516%/235
0C519%/235

ENG1020
ENG1065

Oil Filter Spin On Conversion Kit (with oil cooler exit/entry, inc. built in thermostat)
Oil Filter Spin On Conversion Kit (with oil cooler exit/entry)

Oil Filter Spin On Conversion Kit (no oil cooler exit/entry)

Oil Filter Housing 3/8” BSF Cap Head Bolt

10 Row Oil Cooler ¥2” BSP Fitting — 235mm Wide

13 Row Oil Cooler }5” BSP Fitting — 235mm Wide

16 Row Oil Cooler }2” BSP Fitting — 235mm Wide

19 Row Oil Cooler 5" BSP Fitting — 235mm Wide

Oil Coolers also available with alternative outlet thread patterns.
Oil Filter Dog Bone Extension

Oil Pump Overhaul Kit

www.inracing.co.uk




Consumables

Part No.

BSF604161
BSF604201
BSF604241
BSF605121
BSF605141
BSF605161
BSF605201
BSF605241
BSF606101
BSF606121
BSF606161
BSF606201
BSF606241
BSF607241
BSF607281
BSF608201
BSF608241
FN104/L
AJD81052
GHF202BSF
FN107/L
GHF204BSF
GHF205BSF
EXH1005
N370060
GHF22BSF
GHF242BSF
AJD8204Z

Description

% BSF x 2” Bolt

% BSF x 2),” Bolt

% BSF x 3” Bolt

5/16 BSF x 1%” Bolt
5/16 BSF x 1% ” Bolt
5/16 BSF x 2” BSF Bolt
5/16 BSF x 2%” BSF Bolt
5/16 BSF x 3” BSF Bolt
3/8 BSF Propshaft Bolt
3/8 BSF x 1.5” BSF Bolt
3/8 BSF x 2” BSF Bolt
3/8 BSF x 2.5” BSF Bolt
3/8 BSF x 3” BSF Bolt
7/16 BSF x 3” BSF Bolt
7/16 BSF x 3.5” BSF Bolt
% BSF x 2.5” BSF Bolt
% BSF x 3” BSF Bolt

%" BSF BSF Nut

5/16” BSF Nut

3/8” BSF Nut

7/16” BSF Nut

%" BSF Nut

5/8” BSF Nut

%” BSF Brass Nut
5/16” BSF Brass Nut
5/16” BSF Nylock Nut
5/16” BSF Philidas Nut
%" BSF Half Nut

Part No.

AJD4547Z
RX1382
06B-2
%BSF-45
%BSF-90
Y%BSF-ST
191237
546-9991
546-9992
546-9993
EXH1004
N321750
IAP38-135
IAP38-45
IAP38-90
INR1181
INR1200
INR1212
INR1217

467-0010
467-0020
INR1220
MAS83.4
3H550
233220A
27H7166
B573

Description

5/16” BSF C/Sunk Screw x %“
Exhaust Wrap 2” x 50ft

Timing Chain Duplex Link
Greaser - 45°

Greaser - 90°

Greaser - Straight

Cloth Insulating tape

% BSF Threaded Rod 1ft

5/16 BSF Threaded Rod 1ft
3/8 BSF Threaded Rod 1ft

% BSF x 1.5” Stud

5/16 BSF x 1.11/16 Stud
38mm x 135° Aluminium Pipe
38mm x 45° Aluminium Pipe
38mm x 90° Aluminium Pipe

% BSF Domed Nut

Wheel Stud 7/16 BSF Double End
Ball Joint Cover

Bowden Cable 2mm x 2.5m
(with nipple end)

Bowden Cable 1.5mm (off roll)
Bowden Cable 2mm (off roll)
Oil Strainer Mesh

Air Intake Duct 83mm 1.D. (off roll)
Bronze Banjo Washer 7/16”
Bronze Banjo Washer 3/8”
Brake Bleed Screw 3/8 BSF
Brake Male Union 3/8 BSF

If you are looking for something you can’t see listed, please contact us with your requirements.

ya
‘Z=  +44 (0)115 978 0663

Email: info@inracing.co.uk




-
. { o o _ o [ ]
( X ] o0 060 060 o0
ENG1070 1.6mm Head Gasket (Like N322880)
ENG1071 2.0mm Head Gasket

ENG1105-1.6 1.6mm Full Engine Gasket Set — ENG1104 + ENG1070 + ENG1129
ENG1105-2.0 2.0mm Full Engine Gasket Set — ENG1104 + ENG1071 + ENG1129

Bottom End Gasket Set ENG1129
ENG1121 Side PIate Includes all gaskets shown below

ENG1115 ENG1114 ENG1201 ENG1120 ENG1202
Breather Cap Breather Distributor Tower Tachometer Oil Filter Housing

O=3

ENG1113 ENG1123 ENG1119 ENG1125 ENG1124
Timing Cover Fuel Pump Oil Pump Pick Up Oil Pump Sump Set (4)

Top End Gasket Set (Excl Head Gasket) ENG1104

Includes all gaskets shown below

3B GV LV ) unne

ENG1204
ENG1122 ENG1116 ENG1117 ENG1118 Cylinder Head

Exhaust Manifald (2) Water Pump Inner Water Pump Outer Thermostat Seal Set

QOO0 L OPOQ

ENG1112 ENG1126 ENG1111 ENG1127
Cylinder Head Inlet Manifold (3) Rocker Cover End Carb Gasket Set (3)
End Plate (2)

—

ENG1110
] v ENG1110

Rocker Cover ( Rocker Cover
4

Gasket (Exhaust)

Gasket (Inlet)

www.inracing.co.uk




